By om W A &

S+ N B E Mmook

(FEEF)
BB

(tE 28 FE)

LF B AL BIRE - BREBRAEEIEBELTAY

2. & REER] 1 60 248 o

ARG LA 108EEME > —48
3+ 100 % -

LFHEEBALZRAL - (RAERZEHME - BFEHRE)

S.ARFTELEART AR LB %

6. £ » FHRABAERLEA K -

T ARSREGYY  FHRL -

8. RRAM I H M —Tk -

N
i

o RE 2R AR —A 10 54



Firt /B s 2,
YIEHR e s

i e=1.60x10" Coul, ¢=3.0x10° m/s, h=6.626x10"* J-s=4.14x10"5 eV - s, me=9.11x10"' Kg,
Ephoton=1240(eV * nm)/ A (nm), 7=3.142, 7=9.870, 1/ 7=0.3183

I 10 - 5 8 &

L —RE&EKESIESE - KFH - A BWE - 2—E T
FIBIEERCGHIRE - FERESIEE 3m g A Bl SHIELE] 90 43 g oA

o FREETEL R 1 B BEAE FIRYIHEE T S 80 43 - 4
ULER 22220 » B R S Sy LR M T 2
5 G BEGEIIHRER - AL IR GEEE W) -
R=(A)13m(B) 24m (C) 30m (D)120m.
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2. A coating of MgF,(n=1.40) on glass (n=1 -50) is 800 nm thick. If white light is incident
normally, which visible wavelengths are missing in the reflected light? (A) 498 nm (B) 560
nm (C) 571 nm (D). 600 nm

3. What is the magnetic field at the point P, center of the loop in Fig. 3 ? I=4A, R=20cm.
(A)3.18 uoT (B) 6.82p9T (C) 10.0 uoT (D). 13.2p,T

4. How much current I flows through the bottor wire in Fig.4 , and in which direction?
(A)2.10A,— (B)2.10A,<(C)0A (D)0.415A—.

5. Water flows from the pipe shown in the F 1g.5 with a speed of v=4.0 m/s,. The water pressure
as it exits into the air is P . The height of the standing column of water is h ,P,;,=10° Pa,
H=4m, A=10cm’, A;=2.5cm”, g=10m/s. Then (A) P= 1Pa, h =0.65 m (B) P=10’ Pa, h
=4.75 m (C) P=0.64 x10° Pa, h =0.65 m (D) P=10° Pa, h =4.70 m
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6. An Eskimo child slides on an icy (frictionless) hemispherical igloo of : 5.3 i
radius R, as in figure. She starts with a negligible speed at the top.At / /k .
what angle to the vertical does she lose contact with the surface? g/ ‘\
0= (A)Cos'l(l/3)(B)Cos'1(2/3)~ (©) Sin™'(1/3) (D) Sin™'(2/3)
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(B4e52) Rain falls vertically at a constant 5 m/s. A tube is mounted on a railcar moving
horizontally at 15 m/s. At what angle to the vertical should the tube be titled so that the water
does not touch the sides? 8= (A)Cos™(3)(B)Cns™'(1/3) (C)Tan™(3) (D) Sin™ (1/3)

A Carnot heat engine takes 100 cycles lo lift a 10 kg mass a height of 10 m. The engine
exhausts 16 J of heat per cycle to a cold reservoir at 0°C. What is the temperature of the hot
reservoir? (A)167°C (B)173°C (C)267°C (D)z73°C.

a2
The switch in figure at right has been in position 1 for a long
time where R=6 (), e =12V, C=2.0 ¢ F, L=5 mH. It is changed e . L
to position 2 at #= 0 s. What is the maximum current through & emm’ ==
the inductor? (A) 2.0A (B) 0.24A (C)2.07 A(D) 048 7 A.

An electron confined in a one-dimensional box emits a 200 nm photon in a quantum jump
from =2 to n=1. What is the wave length of photon if the electron take a quantum jump
from n =3 to n=1? (A)75nm(B)100nm (C)200nm (D)400nm.
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(10%)ZEBHE » F2513EFE While charging the capacitor in a simple RC circuit. Show that the
capacitor charge at time  is ) = Onax (1 — "), where 7= RC.

(10%)5 15 - FEYEFE A long straight coaxial cable has an inner

wire of radius a that carries a linear charge density ) ¢/m and an T w
outer cylindrical shell of radius b that has a linear charge density - A N @/ |

find the field in the regions(A)a<r<b and (B)r>b
T~



